Name: Weekly Homework Sheet 26  Date:
Monday Tuesday Wednesday Thursday

What is the VALUE of the Write 1,403,877 in each form. Round 1,478,327 to the Compare the numbers using >,

underlined digit? nearest... <, or=,
Word: 100:

4,382,087 4,382,087 1 000 4,285,390 4,390,285

Expanded: 10.000: 9,382,483__ 3,999,999

Find the Difference. Find the Sum. Find the Difference. Find the Sum.

45,388 - 19,566 61,009 + 3,477 38,230 - 9,324 689,472 + 278,376

Find the quotient.
8,365+ 5

Find the product.
278 x 49

Find the quotient.
4,216 +7

Find the product.
642 x 83

Tulsa, Oklahoma had a

population of 34,728 people last

year. This year the population
has grown by 4,833 people.
How many people now live in
Tulsa?

Jose had 54 cookies. He ate 5
cookies and then gave 3

cookies to each of his 7 friends.

How many cookies does Jose
have left over?

The cafeteria has ? round tables
and 18 rectangular tables. If
each round table has 12 chairs,
and each rectangular table has
26 chairs, how many chairs are
there in the cafeteria all
togethere

One Direction’s fan club has
17,116 girls, and 5,899 boys.
About how more girls than boys
are there?
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Jonathan has 238 stickers to give to
the kids in his club. There are 9 kids.
If he gives the same number of
stickers to each kid, how many
stickers will Jonathan have leftover?

A construction company
purchased 246 boxes of bolfs.
Each box costs $43. How much
did the bolts cost the construction
company?

Josiah has 128 toy cars. If he
organizes them in groups of 7, how
many cars will be in the final group?

At the book store, Dan bought 14
books about The Civil War, and 8
magazines about Abraham Lincoln.
If books cost $13 and magazines
cost $6, how much did Dan spend
at the book store?

Compare the fractions using >, <, or
=. Draw the fractions

Rewrite the improper fraction as a
mixed number.

Order the fractions from LEAST to
GREATEST.

Rewrite the mixed number as an
improper fraction.

2 4 15 4 17 6 3 2 )4 12
10 8 8 3 7 10 4 5 6
Find the Sum. Find the Difference. Find the Sum. Find the Difference.

ﬂ+12: 22-1%: 5ﬂ+§: ]i_i:

7 7 4 4 5 5 10 10

Find the Difference. Find the Sum. Find the Difference. Find the Sum.

2%-3: 4%+2%: 32-2%: 3%+1§:
5 5 3 3 8 8 4 4

Kristin went to the store and bought

%4 pound of grapes, and %4 pound
of mandarins. How many pounds
of fruit did Kristin buy?

At the store Justice 1/5 of the clothes
are pink, and 3/5 of the clothes are
purple. How much more purple
clothes are there than pink clothes at
Justice?

One of Erik’s shoe laces is 10 2/5 inches
long. The other shoe lace is 8 3/5
inches long. How long are his shoe
laces altogether?e

Dan drank 5/6 of a cup of orange juice
in the morning and 5/6 of a cup of
grape juice af night. How much juice
did Dan drink?
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Answer Key - Weekly Homework Sheet 26

Monday

Tuesday

Wednesday

Thursday

What is the VALUE of the underlined
digit?

4,382,087 tens
ten thousands

4,382,087

Write 1,403,877 in each form.

Word: one million, four hundred three
thousand, eight hundred seventy seven
Expanded: 1,000,000+
400,000+3,000+800+70+7

Round 1,478,327 to the nearest...
100: 1,478,300

1,000: 1,478,000

10,000: 1,480,000

Compare the numbers using >, <, or =.
4,285,390 < 4,390,285

9,382,483 > 3,999,999

Find the Difference.
45,388 — 19,566
25,822

Find the Sum.
61,009 + 3,477
64,486

Find the Difference.
38,230 —-9,324
28,906

Find the Sum.
689,472 + 278,376
967,848

Find the quotient.
8,365 +5
1,673

Find the product.
278 x 49
13,622

Find the quotient.
4,216 =7
602 R

Find the product.
642 x 83
53,286

Tulsa, Oklahoma had a population of
34,728 people last year. This year the
population has grown by 4,833 people.
How many people now live in Tulsa?
39,561

Jose had 54 cookies. He ate 5
cookies and then gave 3 cookies to
each of his 7 friends. How many
cookies does Jose have left over?
28

The cafeteria has 9 round tables and
18 rectangular tables. If each round
table has 12 chairs, and each
rectangular table has 26 chairs, how
many chairs are there in the cafeteria
all together? 576

One Direction’s fan club has 17,116
girls, and 5,899 boys. About how
more girls than boys are there?
About 11,000
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Jonathan has 238 stickers to give to
the kids in his club. There are 9 kids.
If he gives the same number of
stickers to each kid, how many
stickers will Jonathan have leftover? 4

A construction company purchased
246 boxes of bolts. Each box costs
$43. How much did the bolts cost
the construction company? $10,578

Josiah has 128 toy cars. If he
organizes them in groups of 7, how
many cars will be in the final group? 2

At the book store, Dan bought 14
books about The Civil War, and 8
magazines about Abraham Lincoln. If
books cost $13 and magazines cost
$6, how much did Dan spend at the
book store? $230

Compare the fractions using >, <, or =.
Draw the fractions

Rewrite the improper fraction as a
mixed number.

Order the fractions from LEAST to
GREATEST.

Rewrite the mixed number as an
improper fraction.

24 7.5 4@ U7 BE 3 26 ,4 14 51
10 8 8 9 3 3 5 5 10 4 7 5 5 6 6
Find the Sum. Find the Difference. Find the Sum. Find the Difference.
41552 3 2.1 s4 .3 _62 4 3,1

7 7 7 4 4 4 5 5 5 10 10 10
Find the Difference. Find the Sum. Find the Difference. Find the Sum.
22 3,2 421,241 3253242 32493251

5 5 5 3 3 3 8 8 8 4 4 4

Kristin went to the store and bought %4

pound of grapes, and % pound of
mandarins. How many pounds of fruit
did Kristin buy?1 2/4

At the store Justice, 1/5 of the closes are
pink, and 3/5 of the clothes are purple.
How much more purple clothes are there
than pink clothes at Justice?

2/5

One of Erik’s shoe laces is 10 2/5 inches
long. The other shoe lace is 8 3/5 inches
long. How long are his shoe laces
altogether?

19

Dan drank 5/6 of a cup of orange juice in
the morning and 5/6 of a cup of grape juice
at night. How much juice did Dan drink? 1
4/6
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